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pedagogue: instruct :: exponent: advocate despicable : contempt ::
reprehensible : censure nepotism : kinship :[1 00 U 00 U O : jingoism
. nationality parsimonious : generous :: clothe:ragged ::
furniture:rickety U1 0O OO OO 00 12113100 0O O O O nis a positive
integer, when it is divided by 11 the remainder is 6, what is the
remainder if (n 1)2 is divided by 11 3. the price of three products
are R, S, T, respectively, and T is the 3/4 of the sum of R and S.
Compare 100 T 50 S with 125 S 75 R 4. there are three points in a real
lineg, P, Q, R. Given the coordinate of P is 2n/3 and the coordinate of
R s 3n/2. If Q is the mid-point of P and R. Compare the coordinate
of Qwithn.O OO U O O O (where nis a poisitive integer) 5. Given
that the perimeter of a square S is less the perimeter of an equilateral
triangle. I can not recall the question now, but it is quite easy. 6.
ABCD is a parallelogram, AB =J [0 [J www.examda.com 10, BC =
8. compare the area of ABCD with 70 7. compare 1/774 1/775 with
... (similar to that) 8. Given a frequecy table, find the mode (or the
range) of the sample (the answer is D) 9. Suppose @ is an operation
defined by: a @ b =a! b! compare (2! @ 3")@4! with 2[J 0 J O [



1@ (3! @ 4!) (Itis easy to see that the answer is B) 10. -1 It. 0,
compare (x 1)~2 with (x 1)7(1/2) 11. Peter sold two houses for $
192,000 each. One house was sold at a 20 percent loss and the other
at a 20 percent gain. How muchistheloss? O O O O 0O O 0O O O
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